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QUESTION 1

An application developer must create a process to build subsets for a dimension and add elements from an ODBC
source.

Which Turbo Integrator script should be used to update the subsets?
A. Epilog

B. Parameters

C. Prolog

D. Metadata

Correct Answer: D

QUESTION 2

Aggregation is automatically applied when building a dimension. Which of the following option is the basis for
aggregation?

A. Formats

B. Rules

C. Attributes
D. Hierarchies

Correct Answer: D

QUESTION 3

Why must an application developer publish a report or template in an application folder?
A. To update the reference on the TM1 server.

B. To move the reference to the TM1 server.

C. To make the reference available on TM1 web.

D. To move the reference to a common location.

Correct Answer: C

QUESTION 4

What can an application developer provide to automate the save process for all TM1 objects?
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A. A script to store ODBC data in a cube.

B. A chore with scripts to write data to all cubes.

C. Arule to save data in all cubes.

D. A chore with scripts to write data to all dimensions.

Correct Answer: B

QUESTION 5

Which of the following options should an application developer use when they need to verify the children of a selected
consolidated cell are fed properly?

A. Check calculations
B. Trace calculations
C. Trace feeders
D. Check feeders

Correct Answer: D
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